Paper / Subject Code: 23107 / Financial Accounting and Auditing V111 - Cost Acc unting e

N.B:

|3 Hours]

Please check whether you have got the right questlon paper
1. All questions are compulsory. ;

2. Figures to the right indicate full marks allotted to the questlon

[Total Marks 100]

3. Working note wherever necessary should form part of your answer..

4. Calculate figures up to two decimal pomts whel ever requlred

1. (a) Select the most appropriate option and rewrite the fu 1 sentence (Any Ten)

)

2)

3)

4)

5)

6)

"

By

5
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is the portion of total cost Wl‘llCh cannot be 1dentmed and direct to the
productlon cost. , - L ;
e Indirect cost e el Direet _co_stf H
e Fixed cost e Variable cost O
Gold in Jewellery is the example o SRR e
e Basic Raw material e - Raw material
e Semi finished goods : o Finished goods )
The method which doegn t dltlexentmte between efﬂc1ent and mefﬁclent worker is
e Time Rate v Piece Rate LAy
e Rowan Plan v 3w Halsey Plan
After receiving material ll‘lSpeLllOll note, the recewxng ofﬁmal wxll prepare
s Material Requisition- e Goods Recelved Note
e Receipt of Material e - None of these -
Salary of WOrks manager is a i i
e Selling overhead : e Office overheads
Factory overheads s Prime cost
The statutow provision regarding deduction from payroll pertain to
; 9" ; Tax deduction at-source _- Professional Tax
“Provident fund " - All of the above

‘ Under Time Rate’ System, the wages is equa! to

;;,.‘ *.1 & ,

H ltday pay is apporti ioned on the bas;s of

““Labour houns x Labour Hour Rate*-
Riece completed x.Piece Rate::

Actual ‘output x Actual pxoduotwe hours
None of these

No of workers e Direct wages
<No.-of workers and Direct wages e None of these

5 lnterest on Bank Deposit is-

9‘6

Credlted in.Financial Profit and Loss A/C
“Credited in Costing Profit and Loss A/C

i ._Debited in Financial Profit and Loss A/C
‘Debited in Costing Profit and Loss A/C
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Paper / Subject Code: 23107 / Financial Accounting and Auditing VI - Cost Accout ting

10) is not included in the administrative cost. A
o Salaries of office staft e Telephone charge
e Office expenses o Salaries of foremen.

11) In Reconciliation statement, Closing stock over valued in Fmanmal Account 1s
o Added to financial Profit :
e Deducted from financial loss
e Added to costing profit
e Deducted from costing profit
12) Production manager is an example of

e Production cost Centre o - Personal cOst"centr‘e“" ]

e Impersonal cost Centre e Service cost Centre -
1. (b) State Whether the following statements are true or false'(Any Tcn) , / WSS 10

1) Cost Accounting is used only in Manufacturmg mdustry

2) Earning under Halsey and Rowan plan are same. = .. & ¢ :
3) Under Perpetual inventory control, stock is verified. pcrlodlcaliy
4) Interest on capital is imputed cost.

5) FIFO method is usually suitable in case of per 1shable matcrlal

6) Power failure is an abnormal ldle time. :

7) Drawing Office salaries is an item of Factory Ovel hcads

8) Goods received Note is prepared by Storekeeper. -

9) Over absorption of overheads increases costing Profits.

10) Transfer to general reserve is an item of Cost Accounts

11) Bin Card is same as Stores Ledger.’

12) Loss.on Sale of Fixed assets is included in Cost for calculatmg profit.

2. SAM I\/Iahufacturing Company gives followirig partiCUlars“for the year 2017. 15
e Particuiars , 1 <
Material " : : 5,00,000
Direct Wages - N k 3,00,000
Administrative Ove1 heads (fixed) - ' 2,00,000
Sales - ; 24,00,000
Profit”s5 & 7 oo ' 5,00,000

Factorv OVCI hedds :

Fixeds . : : 2,00,000
“Variable: 4,00,000
Selling and Distr 1butmn overheads:

lecd : 1,20,000
Vauablc ' 1,80,000

The Company has worked to its maximum capacity of 20,000 Units during 2017.
The management has decided to increase production capacity to 30,000 Units for the year
2018 and it estimated that:-
~There will be allround rise in all variable expenditure by 10%
2. There will be increase of 20% in all fixed overheads
3. Thére will be no need to change the selling price for the year 2018.

Prepare a statement showing Total as well as Unit Cost and profit for 2017.
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paper / Subject Code: 23107/ Financial Accounting and Auditing V111 - CostAccoun i

3. Calculate the carning of Sky and Blue From the fo

Also prepare 2 statement showing ostimated profit for 2018 taking"i‘htfcj; COnS1deratlonthe Yl iy
changes in 2018. B VAT

OR

allocate the labour cost of each jobR, S and T:

{ Particul

Basic Wages

Dearness Allowance

Contribution to Employee Sta

Contribution t0 Provi

Qvertime (Hours) Piral v

The normal working Thours for the month are 400. OV at double the total of. -

normal wages and dearness allowance. Em ploy'e'rv’s and,E_mptéyee;’é an'tributjgh;‘tfq State
Jal rates: The Two ,fWC}‘K&"S;wé;ﬂc”“yéfﬁployéd on

Faocr g R TE IO N

Jobs

ars

ertime is paid:

Insurance and provident Fund are at.eq
JobR,Sand T in the following proport

Blue 0% o b e 3% e
Overtime was done on Tob S at the request of fcustgmer_s;“.j G e 4

3. (b) Calculate the earnings of a worker using Halsey and Rowvéi‘n‘ Plan based on the following 07

information.

Time allowed t0 complete the job Jhe s ;1,‘1‘57]80 hours
Time taken 1o complete thejob - A e STEE ST 144 hours

Rate of Wages per hour

3 BT YT S z 20
Dearness allowances 1s = 40 per day of eight hours.

BAT Lv-gaj:*;Co‘mméii‘éed Business on 1% Apnl v20,1:7;\,¥1(\365t and Financial records are 15
maintained for the year ended 3 15t March; 2018, From the following information:
I Prcpate Cost Sheet forthe year ended'}l?““March 2018

2. ‘Prepare Reconciliation Statement for the above period.
k'Particulal‘réjl . oy

~‘As per Financial | As  per Costing
1,26,875

z 5 Per Unit of
G M PR production
Preliminary expenses written off

[ Diviendreceived___ o, |
: -1ntercst“‘received on fixed deposit 5,950 —

P Se'llingl-and'.‘Distl‘ibutiOn O/H 234,625 | X 8 Per Unit Sold

~ | Reservefor Bad Debts
* ['Closing stock of Finished goods ( _
.

I Closing stock (W1P).
750,000 | 7,50,000

“Sales (1 30,000 units)
. In Cost Accounts, Closing stock of Finished Goods is valued at Cost of Production.

| Direct Material Consumed
“I'Direct Wages

| Factory Overheads
“Administrative Overheads

1250 units)

The

S pxoﬁtas pé;fﬁnancial records for the year ended 315 March 2018 was 41,125/-
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Paper / Subject Code: 23107 / Financial Accounting and Auditing V111 - Cost Ac‘cgl,rg_tingi‘: 5

OR S
3. (a) Tomco Ltd. Manufactures a special product called “A” and prov1des you the follovvmg 08»
information: Yoy ‘ LS
Annual Demand 2,000-Umts ‘
Cost per unit T20 —
Other holding cost 15% &
Pilferage while holding inventory L10% -
Order Processing cost for each order T2
Inspection cost per order % F10
Follow up cost of each order L 15 '
Calculate:- A

i)  Economic order quanmy (use 101mula method)
i)  Total ordering and carrying cost at EOQ level -

3. (b) From the following information calculate Materral Turnover Ratio and express 1t in 07
number of Days. You are required to consider 365 days ina year k

Particulars Materials A ¥ | Materials B ¥ Materxah C?
Opening Stock 13,000 14,000 - V417,000
Purchases 94,000 - 1,76,000- ~ } = 2;96,000
Closing Stock 7,000 10,000 ot .13,000
4. GUM Ltd. has three Production Departments X, Y Z and Two Servnce departments St 15

and S2. The following details are extracted from-the books of accounts in respect of
indirect expenses incurred for the month ended March 2018 -

Particulurs : # 3 <
Supervision . - : : . 10,000
Insurance on stock : j 12,000
Indirect wages T 5= 9,000
Lighting =~ L 1,200
Rent and rates 5 12,000
Electric Power ; 6,000
- Depreciation ; : 24,000
Sundry Expenses 7,800

Following further details are collected for distribution of the above Costs:

Particulars , Departments
els X b4 Z S1 S2

Value of Machinery (%) 60,000 50,000 | 80,000 | 10,000 -
| Horsepower of Machines 40 45 60 5 -
| Light Points (Nos) 20 30 40 20 10
Floor Space (sq. Meters) 150 200 250 100 50
Direct Wages () 30,000 | 20,000 | 40,000 4,000 6,000
No. of workers 20 30 30 10 10
Value of stock - 4,000 3,000 | 2,000 2,000 1,000

- Prepare statement showing Primary Distribution of Overheads.

OR
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Paper / Subject Code: 23107 / Financial Accounting and Auditing Vi1 - CostAccounng 7

4. (a) Calculate the Machine Hour Rate from the following in formation: =~ = Sl 08
Cost of Machine z 8,00,000 o '
Cost of Installation z 2,00,000
Scrap value Z 2,00,000 -

Effective life of the machine 10 years

Rent and rates for a quarter for the shop T 30,000 ;

General lighting Expenses 2,000 per month :

Shop Supervisor’s Salary Z 60,000 per quarter
Insurance premium for a Machine 26,000 perannum_ <o
Estimated repairs "= 10,000 per annum
Power 2 units per hour « @z Sper 100 S 5
Estimated working hours #2,000 per annum. o

The machine occupies 1/4 th of the total area of the shop. The supervisor is eiject'ed‘f‘to
devote 1/6 of his time for supervising the machine. ’ ‘ &

4. (b) A Manufacturer supplies you the following information: .: Y RS 07
Consumption of Raw Material Half Yearly 15,000 kg
Cost of placing an order =44
Cost of Raw Material ; T4 perkg.
Follow up cost of each order : Z 4 perkg. V% i

Carrying cost is 8% of average ventory . 7 e b .
Your are required to ascertain the Economic Order Quantity using Formula Method
and also state the number of orders to be placed in the year.

5. (a) From the following data of Textile factory machine room, compute an hourly Machine 08
Rate assuming that the machine room will work on90% capacity throughout the year &
that a breakdown of 10% is reasonable. There are three days holiday at Deepawali, 2 days
at holi & 2 days at Christmas exclusive of Sundays. The factory works 7 hours a day &
5 hours on Saturday. :

Expenses per annum Sl T
Power: o o ' ‘ 4,68,000

| Salaries to Foreman : ' 1,80,000
| Lubricatingoil 9,900
Light oo . 96,000
Depreciation’ ’ 1,17,840
Repairs to machine 2,16,900

“Number of machines (each of same type) — 50

555 AbY Thevstandarrd time fixed for a job is 40 hours and the wage rate is ¥ 40 per hour. The 07
worker completed the job in 32 hours. Calculate the wages and effective rate of
“earnings per hour as per Halsey Premium plan and Rowan Premium plan.
' ' ; OR
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5. The following are the receipts and issues of coal in factory during March 2018
Date Transactions
01-Mar Opening Stock 200 Tons ¥ 460 per Ton
02-Mar Issued 140 Tons
06-Mar Purchased 350 Tons @ ¥ 450 per Ton -
08-Mar Issued 80 Tons
09-Mar Issued 210 Tons :
16-Mar Condemned due to deterioration all quantlty
20-Mar Purchased 400 Tons @ ¥ 470 per Ton
24-Mar Issued 200 Tons
27-Mar Purchased 100 Tons (@ ¥ 480 per Ton
29-Mar Issued 150 Tons
31-Mar Excess found is stock 50 tons due to wrong wewhmcT during the month

The Maximum Level fixed is 400 Tons, the Minimum Level 75 Tons and the

Reordering level is 100 Tons.

Prepare Store Ledger Account under FIFO Method and Weighted Average Method

6. (a) Explain the classification of Cost on the basis of functions.

6. (b) Whatis meant by Labour Turnover. Explain its causes.

OR
6. Write short notes on any four of the following:-
. Objectives of Cost Accounting
2. Advantages of Material Control
3. Tabular method of EOQ.
4. Selling Overheads
5. Gantt Task Bonus Plan
6. Purpose of Reconciliation
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